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Note: A + before a word indicates nuclear stress.

Thuirt i gun do bhris e an dorus leis an ord [an dè]

Say.past 3sf that.past past broke.past 3sm the door with the hammer [yesterday]

She said that he broke the door with the hammer yesterday

Note: base order

Thuirt i gun do bhris e leis an ord dimairt e

Say.past 3sf that.past past broke.past 3sm with the hammer Tuesday 3sm

She said that he broke it with the hammer on Tuesday

Note: Pronoun post-posing

??Thuirt i gun do bhris e leis an ord e dimairt

Say.past 3sf that past broke 3sm with the hammer 3sm Tuesday

She said that he broke it with the hammer on Tuesday

Note: Pronoun postposing

Note: Marginal grammaticality

Dh’fhàg Dàibhidh, tha mi cinnteach, Sabhal Mòr [an dè].

left.past David be.pres I sure Sabhal Mòr yesterday

‘David, I’m sure, left Sabhal Mòr yesterday.’

Note: restriction on VS adjacency is stronger than that on SO adjacency: it is possible to interrupt the subject and the object with a parenthetical expression.
*Dh’fhàg, tha mi cinnteach, Dàibhidh Sabhal Mòr [an dè].

left.past be.pres 1s sure David Sabhal Mòr [yesterday]
‘David, I’m sure, left Sabhal Mòr yesterday.’

Note: restriction on VS adjacency is stronger than that on SO adjacency: it is impossible to interrupt the verb and subject with a parenthetical expression.
Note: UNGRAMMATICAL

'S ann ag obair diluain a bha mi ach 's ann a' snamh dimairt.

cop in.3sm prog work.vn monday wh-C be.past me but cop in.3sm prog swim.vn tuesday

I was working on Monday but swimming tuesday

Note: AZSGP wants to put the a bha mi in the 2nd clause

Note: predicate cleft

Note: coordination

*Chunnaic mi [an dè] anns a’ bhaile e leotha
saw.past 1s [yesterday] in the town it with.3p
‘I saw it with them in the town yesterday’

Note: problem with TP fronting analysis: Final position in SG never entertains clusters of pronouns. Only one pronoun postposes
Note: UNGRAMMATICAL

*Chunnaic an cat leis na speculairean agam mi.

saw.past the cat with the.pl spectacles at.1s  1s
‘I saw the cat with my spectacles’

Note: Subject pronouns can’t post pose
Note: UNGRAMMATICAL

Bhuailinn an cat seo, nam b’ urrainn dhomh.

hit.cond.1s the cat this if.cond  cop.cond ability to.1s
‘I would hit this cat, if I could.’

Note: there is complementarity between “strong” agreement on a head and a co-occurring argument.
*Bhuailinn mi an cat seo, nam b’ urrain dhomh.

*hit.cond1s 1s the cat prox if.con cop.cond ability to.1s
‘I would hit this cat, if I could.’

Note: there is complementarity between “strong” agreement on a head and a co-occurring argument.
Note: UNGRAMMATICAL

*Bhuailinn mise is tusa an cat seo.

hit.cond1s 1s.emph and 2s.emp the cat prox
‘You and I would hit this cat’

Note: Complementarity holds in coordination structures

Note: Coordination
Note: UNGRAMMATICAL

Bhuailinnse an cat seo.

hit.cond1s.emph the cat prox
‘I would hit this cat’

Note: Emphatic

's e mise a thuirt thu a sgrìobhadh an leabhar

cop 3sm 1s.emph wh-C say.past you wh-C write.cond the book

It's me that you said would write the book. 

Note: when clefted the inflection on the verb disappears.

*'s e mise a thuirt thu a sgrìobhinn an leabhar

cop 3sm 1s.emph wh-C say.past you wh-C right.cond.1s the book

It's me that you said would write the book. 

Note: when clefted the inflection on the verb disappears.

Note: UNGRAMMATICAL

‘s e na leabhraichean sin nach fheum sinn an leughadh

cop 3sm the books dist neg-C must we 3p.poss read.vn
‘It’s those books that we must not read’

Note: resumptive 3p.poss for object of the verb.
Note AZSGP: does NOT LIKE RESUMPTIVE in this sentence, leave off the an! And disagrees with this judgment.

?Chunnaic mi e [an dè].

saw 1s 3sm [yesterday]
‘I saw it yesterday.’

Note: semi-grammatical weak pronoun placement.
Chunnaic mi [an dè] e.

saw 1s [yesterday] 3sm
‘I saw it yesterday’

Note: Preferred weak pronoun placement.
Chunnaic mi esan [an dè].

saw 1s 3sm.emph [yesterday]
‘I saw it yesterday’

Note: strong/emphatic pronouns do not shift.
*Chunnaic mi [an dè] esan.

saw 1s [yesterday] 3sm.emph
‘I saw it yesterday’

Note: strong/emphatic pronouns do not shift.
Note: UNGRAMMATICAL

Chunnaic Mòrag do +mhàthar [ann an] Lunnainn [an dè].

saw.past Mòrag 2s.poss mother [in] London [yesterday].

‘Mòrag saw your mother in London yesterday’

Note: nuclear stress is assigned to the object of a finite clause.

Note: AZSGP puts 2ndary stress on Lunnainn
Chunnaic Mòrag [ann an] Lunnainn [an +dè] i.

saw.past Mòrag [in] London [yesterday] 3sf.

‘Mòrag saw her in London yesterday.’

Note: if the object of a finite clause is a weak pronoun then nuclear stress is assigned to the rightmost adjunct.
Bhàsaich Mòrag [ann an] Lunnainn an +dè.

die.past Mòrag [in] London yesterday.

‘Mòrag died in London yesterday.’

Note: if the object of a finite clause is absent, nuclear stress is assigned to the rightmost adjunct.
taigh mòr ùr +uaine
house big new green

‘a big new green house’

Note: rightmost adjective in a string of postnominal adjectives receives main phrasal stress
Càit am faic Mòrag do mhàthair?

where wh-C saw.past Morag 2s.poss mother

‘Where did Mòrag see your mother?’

Note: Wh-question 

Note: meant as a prime to the next sentence to get focal stress on a different adverb.

Chunnaic i [ann an] +Lunnainn i [an dè].

saw.past [in] London 3sf [yesterday]
‘She saw her in London yesterday.’

Note: Answer to Càit am faic Mòrag do mhàthair.

Note: weak pronouns encliticise to a stress bearing constituent: if for focal reasons an adverb that is not rightmost bears nuclear stress, weak pronoun will surface to its right
